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SUMMATIVE ASSESSMENT - II (20L5-16)

sctsNcs/tq{rq
Class-IX/dF'q{f - IX

t{qiFmqtr€t: g qut

Time allowed: 3 hours
^Y{rqr;qF-({i:

eftr*nq 3Fh' : 9o

Maximum Marks:90

(i) {q rFr !-i 41 61q eff,rT, e+rrT-3{, qrq-q elR qrq-q i qrat rql t I 3Trs+l tri *rln +' w=ii * st'i ffi t I

(ii) s*fi evl srFTqd € r

(iii) e]q+J qrrr-3{, s{Fr-q eit{e{r,T-q 4-e*t wi * wr YTq'-I?r-q' ffi dri t

(i") s{r.T-sT A- qrcs@r 1 i 3 &cfi q*-qm' eia*-tr c-{+3-di q* vrq erqqrqoqrw i t r

(r) qrrr-sT*- sT{Tist 4 s 5 sFiq}-q1 eid*tr W*t-treqqrT 30 vrdiiiitt
(vi) g{FI-3Td-ffi€reqT6 t t6+swdt{-fi-{effi*tl Iq&3T{€rrqrT 50 Vr-drntitt

(rii) qnr-31 fi- yrc {ear 17 t 21 *l-rq drq-qis3iaii*tl a+*Td{ oqqrT 70 vrd C ?i t r

(viii) c{Fr- da'atcyqq, s1r€@r 22a 24 5tr'qr-d c{sTIqrFKtrq+d wqs@122+ 2 3lfr, qrcq@123 + 3 3l-dF

dgn24* s ei*dt
(i*) s{r.r-q * 51fi qqr 25 i 33 + er{ nq}T.{s shTd cI qqTRd q-gf{+;-fllr* q, q$-+ lrrl gm :Tm' sj t r ftq

nq q1 ffi i' t qTq-{i sq& sqgffi 1q5qr gnr t r

(*) s{r.r-q * qrc qrgql 34 i 36 * !-{{ yq}Tiqm ehTd cI ertrTRn d-s} s#i +'ss1 t r F{h sfl dq'!iq 30 vrdi C

cn6 r

General Instructions:
(i) The question paper comprises of three Sections, A, B and C. You are to attempt all the

sections.
(ii) All questions are comPulsory.

it1) All questions of Section-A, Section-B and Section-C are to be attempted separateiy.

(i") euestion numbers 1 to 3 in Section-A are one mark questions. These are to be

answered in one word or in one sentence.

(") euestion numbers 4 and 5 in Section-A are two marks questions. These are to be

answered in about 30 words each.

(ui) Question numbers 6 to'l-6 in Section-A are three marks questions. These are to be

ansn'ered in about 50 words each.

(vii) euestion numbers 17 ta 2'L in Section-A are five marks questions. These are to be

answered in about 70 words each'

(viii) section B has 3 OTBA questions. Question number 22 is two marks, Question

number 23 is three marks and Question number 24 is five marks question'

(i*) euestion numbers 25 to 33 in Section-C are multiple choice questions based on

practical skills. Each question is a one mark question. You are to select one most

ippropriate response out of the four provided to you'
(x) euestion numbers 34 to 36 in section C are two marks questions based on practical

skills. These are to be answered in about 30 words each'
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e{rlt-3T,/ SECTION_A

{Tqrqfrfr qqtq-{ *. frqq fq.si Rq ?

\Alho gave the laws of chemical combination? Jox

+rrd fuarir H q'+ €q dq{q frlqq r

Give one important characteristic of canal rays.

e_tri sT cis qq-d ertrflnT fsrd lR.rhd i*-qr qr I
Who proposed the five kingdom classification of living organisms?(uiera

qd 
'Tl€.i ei so m *1 glr n-* qffi fr tri rzso rv qdq Ed + fraa, fu-q w u,-rd u.} cnr*-iea

*iftqr €Tq ET qfi sllfqq fu- B-q !"F-f{ sl q,4 fu"qr {qT + ?
Calculate the work done in pushing a cart through a distance of 50 m against the force of frictionequal to 1250 N. Also state the type of work done. _

q-dt qk q-q6 +- erqTh qi srTqTq g{i t r.+ *#c rd-& BR-q e d.+r tr-d-€-dT ger iflH-d q.m R.r qRqqfi ss qk * 476 rn6 t di Esfr" qT qrd itd +ifuq r

A person observe the smoke from a gun 1.4 sec before he hears the bang.If the gun is 476 m away from the p""rror,, find the speed of sound.

(i) rupAc q) yyt sc t frlsq r

(ii) q- * FEinT q ETn+qr qs eriiqtq{ + #qr q. rqqm $T 3TJcTd
r : B ator tr sg ET-{gts-{ r}g t {u| Fq t eTnrb-cT q={i + leq wnqq_fi eri+stq_{ rrs er
trqqlq R] *qT?

(t Write the full form of IUPAC. lat ,r,, "i p"ro rpp <A*rr

(it Hydrogen and oxygen combine in the ratio of 1:B by mass to form water. What mass ofoxygen gas wourd be required to react completery with 39 tf hydrogen gas ? 
--'

(u) sT-dq + qr{€rTF{f, C_14 q ffi *ir fr--sqT.q tr
(b) g"+2 slqq fr A-C ajzT-{ oiTBE t?
(.) ffi q{qTE s1 nffi sqr i eTRrs-dq fsTri FdEf{ srt s6A t ?
(u) How many neutrons are present in C-14 isotope of Carbon ?

Ib] How many protons does He+2 ion possess ?(t) Hoy many electrons can be filled in the third orbit of an atom at amaximum ?

t*-S q-{rf *- qo €{E sT RqJ q-qqn E.JZx70-23gt-r q-€-ml stTfr-{fi trqqfr EHT e.? q6 3
c-{ef wr d wq-m ti
*fwqq €Tq'r{s qj {d fuM qq gs--d fq-dqlq stTq-i qi qqrH
The absolute mass of one molecule of a substance is 5.32x70_23g. What is its

\

(u)

(b)

(a)

t/t*'
i'itr
or?i

L *fo
,-i6a
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l

molecular mass ? \All'rat could this substance be ?

(b) write the formula of calcium sulphide and show the ions present in it.

qq-f, q}+{r t {-qRro Effiit dt{ fqRtq cq{ur fc.fisq t

Write three characteristic features of organisms belonging to kingdom Monera'

10 "qq 6q '{slq6 qqqspi 6 qq-S f ETA t f,q q1 q"6 3lctrq*'TS fu €q s{ fr t Tfuf, d," 3

sq-flFq I

Explain why even if we are exposed to infections microbes, it is not necessary that we are

suffering from diseases.

trq sT qqs gm I ffite{ ERI / qT{q gnr I dwikqr Er{ se-q lHr i q'tr-fn etFl-} t

ffiql, q{q {n, !-f,ftql, ffid d=lT, zrrrtnfzrs, ?izpEq l

ClassifY the folloning under fungus/ .protozoan lviral/bacterial diseases : influenza,

tuberbulo sis, malaria, skin infections, typhoid, hepatitis'

enf4rqHri qT fs-eT-d qm qtfuq I {q fseid t. A 3r-{echr qqfl-{q 
t

State Archimede's Principle. Explain its two applications'

13 a-f, qcl qi 7-q1i d qm cceR rF-d sri w q-* tqis i zo $ oat 3-srq' atfr tr qs rJ.l deTr 3

qfi rrd d qsq 1o cm qfi $ tl qFe-fud *tfqq-
(a) e-eir'oi arrt*{ tul d-6d 6i elrgfu (c) ooi ql d'q

In a water tank, on throwing a stone 20 full ripples are produced in
1 sec. The distance between a crest and trough is 10 cm. calculate

(u) the wavelength of ripple (b) frequency of ripple

(.) velocitY of the riPPlis.

L4 50 kg {qrTrq qT gm qlq 15 ffirdSi,, s-fl-f, 61 +qT{ 15 cm, 45 +fr-s qqq q qrot ?'t sc

fi .ffi si q6i q s{rd gRT 3c-q}T q1 Ti YrFfr cRq-fud eiftqt (g: 10 m/s'z)

A man whose mass is 50 kg moves up 15 steps each of height 15 cm in 45 seconds of time.

Calculate the power used in climbing those staris'

k: 10 rn/s2)

ffi qo-O c{ qE dt o-q q{i t Q evr+ gflgq I

ffi qq qT s=rc{ 1.8 g/cm3t't q0 tglmafr qm elfeq t

Suggest two ways to decrease Pressure on a surface'

n"i'tiity of an object is 1.8 g/cm3. Express it in kg/mt'

€gffi g-S q-q{r 6r BT-{ t t (s- qn q-6 lei$ gmn Q d&r tr I Ycml rrrdrqi 3Q stdr{ *'cr€ d 'r$ r

el€{ i €?iffi}q C va-q-or t ss*T qfrqroT fu-fl r q{ q{dm{ B€-i 3rq-i Eq Ed {'{q t €eislq
+ eft n slrfrffi slR q1t

11

T2

I]

_LO

(a)

(b)

(u)
(b)

*Xc

#i", ,#;
*'t?..

+.5'
?JJT

'f*ll'
{Ee
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€?iHIc wr Etdr qfi er-{sqh frfuq r

frq ffi qq €qMq or{ ow t Bei fud 61 sqfrq qi-{i srci qd *{ gflm ei wr
rf,fqq I

(.) gga nvt Bsh ,rT$ {qq 6RT cqRtd yl fuFoq r

Mukul is a student of class VI. Once he was suffering from cold and cough. His mother took
him to a doctor. The doctor examined him with the help of a 'stethoscope'. On returning
home, he asked his elder brother Shubham about the Stethoscope, who got him aware about it
?

(a) \4lhat is Stethoscope ? State its application.
(b) Name any other device which works on the same principle as being utilised in a

Stethoscope.
(.) what qualities are shown by Mukul and his brother shubham.

17 +w qil + liqtfir{f, qfec sfr etq?rnsrpi q-r quh qTsq r fqf\rq q;qrpi q {fr€Tq fr-d{"r +' s

frfirq frqq fufuq | {€ qqs.qr *1wi rq frqr rrqT t?
Describe the postulates of Neils Bohr's model of an atom. Write the various rules formulated
for the distuibution of electrons to the various shells. \Alhat is the name given to this
arrangement ?

18 fr-6 qift\ f{ dM ffndi (t-il !r{ si+cT tr f dq iqs fdto\)
Justi$r that Labio Rohita (rohu) is a chordeta. (Give five points)

19 ftq *'rTcq frq-fi qlfqq'- q

(a) dtd iFT nqr <iffioo rhr
(b) +6q-orlq nqr sr€slq-fiirT
(") dqflT 3]Tqrfrd tscqR nw qq$qtq snenfud BTqR

(d) qiA-qTziff-r HeTT *s1
(e) q"quil-d tl ne{rBcrFfd ih
Differentiate between the following:
(u) Acute disease and Chronic disease
(b) Infectious disease and Non-infectious disease
(") Symptom based treaknent and Microbe based treatment
(d) Antibiotics and Vaccines
(") Congenital disease and Acquired disease

20 {s" s{i-flur e1 va-qdT d eqRfa qltsq fm qq fr"si 4q ei qq frR-qd r;qrg t Fnrqr qrcr t s

d e-s {q 6i Ra{Rq s-qi {fr"s s-qi q 6qr<Rd ei qdr tr
Show with the heip of an example that when a body is dropped from a certain height, the
potential energy of the object gets converted into kinetic energy.

21 (u) Filt t 'hd 61 fi-s+r o.zr .* t t qft dtA eil wfiq 7.8 g/ cm3 Ei R] Bs* trqq{ 6T qfufiafi s
qtfuu 

r
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(b) ffi ts cm2 qbqe et va-o s( ,m, trqqr *- qfi Uah ET{T 1000 pa qt-s drril t, feb a-r
{q'q' 'rn' qfrqfr6 *1fsq, qp sq-fi R-6 qT *-rqtr 10cm2 d di T.* ERT drri erd cq ETsqt g qkfi-f,-{ eifsq r

(a) Radiusof anironsphereis0.2lcm.If densityof iron is7.Bg/cm3,calculateitsmass.(b) A pressure of 1000 Pa, acts on a surface of area 1s cm2 uy u"tto.t of mass ,m,. calculate'm'' Calculate the new pressure exerted by the same bloik if the area of contact with thesurface becomes 10 cm2.

$n{r-E ( T{T qr6 )/SECTTON _ B (OTBA)
(" Please ensure that open text of the given theme is supplied with this question paper.)

sf,rvrqi' o6'Mq{uTl conservation of water Bodies

22 3{Tq srqi qfd + trH,'qt q-€ d v{qflT ds{ q.d qld-i ql E-sri * rdq fm-q rfl-{ qfrd u;-i {m-}$r

Jn ynlt ways can you sensitize the people in
bodies?

your locality to conserve water and save water

23 ffi d ffi iTd rrfr e1 sqf,"erdT

n*-rq s?Trhf, q-{ v4ifr t?
d q_ql et-re1 qTdrEl il*. ftw n qtqq * silrw si f+-s 3

How the scarcity in availability of fresh water for irrigation may affect the world,s foodproduction by the next century?

24 ztf,qrTddq-f,d vreToTf,qrft--qdd ffi Tfrrdq-d -ofiif,Ti*cdftr*--dqd s
eq'q r* dE ft qliqTq-qT d qroT loMr
Enumerate the steps taken by River Lake Link Project in Tikamgarh for conservation of waterand decrease in ground water utilization for irrieation. ,r

s{Ff-€,zSection-C

25 qfr +'qrq-dq +- frqr+r HT eTs{q-{ q-rd sqq, ssi q"r efu qi-or qr{q.+a <Triq no frz + 3TwR
Rqlqlfud F*-qr qqr t r crEffiR sEfr s] R-s s'q t g_{i * fuq qR cTqc q} q_q s_f,R qqtzilfu.d s_.rT
=Fq mfuo =:

.---arlgl

r/"\ Ana\*./ :v (b)

4.T-{

qno

tq,{:

,:{,
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While studying the laws of reflection of sound, the tube facing
below. In order to hear the reflected sound clearly, the second
that 0 equals:

the clock is placed as shovm
tube should be placed such

\

Clock

*#{a) 40' 80"(d)60"\L/(b)

Ear

50"

26 q*-yq}rTCg*fiiiStgqqqqd2Tt30cmx20cmxL0cmfuqrgfrerelq*-tst'€'drtflqqlqft-qT1
ssi q{rq dr +q c{ dsT I qq gs qilsl q} 20 cm x 10 cm t{qptr eR rnm* q{ {sT rrqr fr ts +'
gts Y{ d.rri qrm qet deil ff{ F-qfl: *i .

(u) 4.9 Nne-Il2.45 Nm-2
(c) 0.49 N TqI0.245 Nm-2

(b) 49 N nql2450 Nm-2
(d) 490 N nP{ 24.50 Nm - 2

(b) 49 N and 2450 Nm-2
(d) 490 N and,24.50 Nm-2

In an experiment Sudhir took a solid iron cuboid having mass 5 kg and dimensions 30 cm x
20 cm x 10 cm. He kept the cuboid on the table. The force and the pressure exerted by this
cuboid on the table top if it lies with its face of dimensions 20 cm x 10 cm respectively would
be.

(u) 4.9 N and 2.45 Nm-2
(.) 0.49 N and0.245 Nm-2

27 *qq Etfr t ,

(a) qtq s{sftl q1il{,7

(b) qm qtffi 31-d{IcT *. qrq fu qi-+ eTf,} i|{'I
(.) drltdR frqt*T ft1f,i.l
(d) ad sr+fu q1d{'r

Pulse is :

a (u) wave of short duration.
(b) wave which repeats periodically.
(") wave of continuous disturbance
(d) wave of long duration.

qe clq fii-{i' W, e-dfi g-ilfi srh qtq EiA t crc s+q' wo rEi At, q-+ fu's €ao t {qT qrdr E sE
\
a.

(u) ffi 1u) qW
(.) tfi3-tilqzT (d) qtqrnrqzr

To which group do the plants belong that have embryo, vascular tissue and seeds but lack
fruits.

26
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(a) Gymnosperms
(.) Pteridophytes

(b) Angiosperms
(d) Bryophytes

2s trqq|{ v{sill ql t{q-q €-slfud q{i t eq},T i; \'*. q{sq-rfr i fflq r(30 g +s cE}z td-dq-{ e1 q-s'
Etm-{ ffi 30 g R}bqq EC{Eg fudqq t, i sr-er rrqT | *f,{ i yr.a r*A * q-qq-rq El-n .

(a) 60 g (b) 30 g (") 40 g (d) 50 g
In an experiment to veri$z the Law of conservation of mass 30 g solution of lead nitrate takenrn a test tube was poured into a beaker containing
30 g of sodium chloride solution. The masi of the products obtained in beaker would be :(a) 60 g (b) 30 g (.) 40 s (d) 50 g

30 qqiR 3rffiqq i ffi ETtffil sT Y$ ft-{ s-{i Tr qrfq erpti4T{c ne{T qd 3-d-q dA tz n} 1
(qqH g{qTUT frqq t e{g€-R :

(u) dF+"rdq q.T Eqqm : qr+{ qqetftffiq.s sl E;qqH + q-f, qT trqqn
(b) Erg$qrdq sT trqnrr

sti*'tq{ + qrr H-r aqq[-{
- *r-fi eiqetinwq-g qT trqql{ +

€E-ffi{ e;r qqEil-{ + q-f, sl qqqn
On complete combustiorr of a hydrocarbon in sufficient oxygen, carbon dioxide and water areproduced. Then according to the law of conservation of mass :(u) Mass of hydrocarbon: Mass of carbon dioxide + mass of water(b) Mass of hydrocarbon : Mass of Carbon

mass of oxygen + mass of water
(.) Mass of hydrocarbon + Mass of

Mass of carbon dioxide + mass of water
(d) Mass of oxygen + mass
Mass of hydro carbon + mass of water

of carbon dioxide

(.) EiilSrrdq qT qqrrr{ +
-----$- --^-chtq{ sT{3tIWl-{ge-t qqqq + qTi Eit (qq-q

(d) fl-d{ srqem{{rnc el trqqrq

eriwtE-{ qT {qq.q :

+ 3rffiq-{ st qqqt{ =

dioxide +

oxygen =

51 fui a elrr n C qqtr d F-* Ts.t{ s1 T6qrt q-t :

A
(u) frl s

(b) fs-d A

B
q6 i6ffi qrEq t E-qf*.

\r3lR B qTTr q-m-etqq-rT qTqq

€-- 
^Iq;x t\ Uda. r r r \ ,.

:\.
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(.) tur a e+h n fr td-ffi wqq t
(d) frz n qmqteq-fr qTqq t q-qfu fu-r a tdqlqq?i
Identif,i the type of plant from figures A and B :

32 gs'6i-{ i q-fi c-ft qT iqor

. I tq-s-fir 1vrtrd i' qo t''
(a) Is€-f,
(.) g€rft

(u) hibiscus
(") tulsi

qTEq I

Ei{ ssd' qqI{I<R ffi+qrq c|cil {s g=h-f{ 4-T ffid;qTs ftq d 1

(b) sRT

(d) *r{*11

(b) grass
(d) mustard

siphons present on :

(o) figure B is a dicotyledonous plant and figure A is a monocotyledonous plant.
(b) figure A and B both are rnonocotyledonous plants.
(c) figure A and B both are dicotyledonous plants.
(d) figure B is a monocotyledonous plant and figure A is a dicotyledonous plant.

A student observed a leaf and identifiecl its venation as parallel venation. The same kind ofvenation is characteristic of the plant which is :

33 drrsT -wr(eT qT qk'ml Q, {qrs d-di t drlTi qffi t ,

- -:f ---i- 
-(a) sqs.cq{ (b) zdu-ec{

(.) s d ra-s rR (d) frst e-s c{
Larva breathes through spiracles or
G) 5tL segment (bi Zth segment
(") 8th segment (d) 3,a selment

ftffi q-qq{ qtr 3ilqili 25 cm3 dqt q+G 5.0 gm cm -3 i'r c-.q{ 6r qqq;q qffid otFeq r

The volume of a stone is 25 cm3 and its density is 5.0 gm cm-3. Calculate t1e mass of the
stone.

fuRi a)'€ 4q gnr fu{Elfrd q-d q1 qR {rd q.li + !c}T n, q6 erqqrfi ti +' ftr} un-o q.uT t fq
ds si Wfnql qc q gdqr qfi nn {€ cbqT q ds lTr ql ffiiner n-o t n z-f,'{rq teT s+rz
While conducting the experiment to measure the weight of water displaced by the bodyprecaution should be taken to immerse the solid in water without touching the walis orbottom of the container. \Mhy ?

34

35
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 36.       (a) How are bird modified to reduce weight for flying?
             (b) Which part of body is modified for flight?
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